Wir rechnen plus

.QC.. QOOOO

..Q.. QQQOO

0000. ..COO

..Q.. QOQOO

..QQ. ..QQQ

..Q.. 0.00@

+

Q.C.O .OQOO

..Q.. .OOQO

..Q.O .OOOO

..Q.. ..QQO

+ =

+ =

Wir rechnen plus

..Q.. ..QOO

+

+

+

.QC.. 0.00@

..Q.. QQCOO

..QQQ QOQQO

.0000 QQC.O

..Q.O .00.@

..Q.. .OQQO




Wir rechnen plus

00000 OO0

00000 00000

3+ 2=3

6+ 2=_8

00000 900000

20000 OO0

2+ _6=_8

4+ 1=5

00000 00000

00000 90000

4+ 3=7

1+8=2

00000 00000

00000 90OV V0

6+ 1 =7

3+ 3=_6

00000 00000

00000 00000

7+ 1=_8

7+ 1=_8

Wir rechnen plus

00000 00000

6+ &= _10

6+ 2=_238

£+ 3 =_10

3+ _£=_10

00000 00000

00000 900000

2+ 4 =_9

3+ 5=_38

11 ] JoRelelelele

00000 90000

1+3=_4

3+ 6=29

00000 00000

00000 @00V0

8+ 1=29

S+ 1=_6




